el
FNE2ESFFRELHFEAREFEXEZTERPER

o £ il EH JIE {32 S8 k=

3-6 HBHE fHt i = Bk 1 1m95 ITEE K= H 5
3-6 =K B4 e ek 1 4m60 MR H 5
3-6 RO X By 1 | 56m51 EHERZHIS
3-6 HEE YAt J\FERR 1 5128/ | KE44 . B KEH1E
2-6 =il BE 100m 1 12705 ITEE K= H 5
3-1 RER EE 400m 1 57772 MHEREH IS
3-5 Bl # 100mH 1 14745 ITEE K= H 5
3-5 fall #F 4 x 100m 1 47781 M EEREHI5
2-6 = B 4 x 100m 1 47781 T RS 5
2-1 hg Z8 4 x 100m 1 47781 M EERE 5
2-6 B {53 4 x 100m 1 47781 T RS 5
2-1 A& H% i = Bk 1 1m68 TR H 5
3-6 Hif & EE ek 1 3m40 ITEE K= H 5
2—-6 aX BEF A 1 13m08 T8 K= Hi15
2—-6 AT FBUEB/{E NI — 1 51m08 |E&k#H -ALF GRS
3-6 BiE = A5L) 1 38m05 T R=HI5
3-6 BH i 110mH 2 15703 I RKEH G




3-3 ¥H AE 4 x 400m 2 | 318799 MHEREH 5
2-6 RO AR 4 X 400m 2 | 318799 MHEREH IS
3-1 FH #& 4 X 400m 2 | 318799 M EEREHI5
3-6 HHE ¥t 4 X 400m 2 | 318799 ITEE K= HI5
3-6 S N30 iE = Bk 2 1m95 MR H 5
3-1 FaLE 5t Fa AL 1% 2 13m40 T XEHI5
3-1 FaIg i A% 2 42m99 MR K= H 5
1-6 WH R J\FERR L 2 48375 ITEE K= H 5
2-6 =i B 200m 2 25”38 ARSI
2-6 B {53 400m 2 59”04 T XEHI5
26 =F HEE 4 x 400m 2 | 354794 MR E 5
2-1 hff =8 4 x 400m 2 | 354794 RS HIS
26 He 6% 4 X 400m 2 | 354794 TR = HI5
3-1 REA XE 4 x 400m 2 | 354794 RS HIS
3-1 i 1B R 2 12m49 TR H 5
3-6 FIl FZE NT—I% 2 46md4 | KEF-AEXEHIS
26 HH KK o0 % 2 37m57 T REHI5
3-6 Ha B CIERR 2 40855 I RKEH G
2-6 IS & 4 X 100m 3 | 42"52 HEAZHIS




2-6 kO AR 4 x 100m 3 42752 M EEREHI5
1-6 H 4 x 100m 3 42752 T RXEHI5
3-6 ilﬁﬂa Hif 4 x 100m 3 42752 M EEREHI5
1-6 =8 = A5L) 3 54m63 MHREHIG
21 EIJE =8 400m 3 59”20 M EEREHI5
3-1 RER EE 800m 3 | 220704 M REH G
3-5 fall #F 400mH 3 | 106718 MR K= H 5
3-6 e ¥ 7 = Bk 3 1m60 ITEE K= H 5
1-6 i8] £ 3 xEME Bk 3 5m28 MHEREH 5
1-6 i 2 = ER Bk 3 10m96 ITEE K= H 5
26 T KK 2 3 34m97 MR E 5
3-6 YEIN i TIERR 3 3466 5 ITEE K= H 5
1-6 WFH ZRE 110mH 4 15742 TR = HI5
2-6 B {53 200m 4 26”31 RS HIS
1-6 I RS 400mH 4 | 109748 MR EHI5
1-6 SIEEZE iE = Bk 4 1m57 MR EH G
2-6 R E=RF i 4 11m45 WMEXEH 5
3-1 Ay EE Sk 5 53m72 I RKEH G
2-5 Bl Rk NT— 5 37m12 K= H 5




1-6 WFH R i = Bk 6 1m83 T RXEHI5
1-6 1% hil = Bk 6 13m65 IR EH 5
2—1 hpg ZF 200m 6 26”49 T EEREHI5
1-2 INRE R Tt 7 35m95
26 KH {6 NIT—I% 7 40m15
2-6 T& 4&7R J\FERR 7 43185
1-2 h¥ 99 = Bk 7 10m57
3-5 =i JiiE NS Bk 8 6m65
3-5 B JtiE = Bk 8 13m39
1-2 INRE R A% 8 11m85
3-6 HE ¥ = Bk 8 10m54
2—6 a4 BER M2 45% 8 29m386
1-6 LA EZH 100mH 8 15790




INFEURUER

$mwﬁrélm%%hﬁéwﬁﬁﬁ”ﬂw@élm%%hﬂhvsziﬁ i

£ il EH JIE {32 S8 1?*%
3% iR 2 ISE el B+ H{& 1 TEL
3-6 FHER BFHEIAK 1 L
3-3 HAREINT B+ H{& 1 TEL
3-2 JRARE R BFFHIA 1 1L IHH 15
3-3 QIS IPN B+ H{K 1 L
2-4 TAREL BFHIA 1 L
2—-9 EREXR BFH{F 1 L
2-2 alBEZE(M) BFHIA 1 L
2-6 HZAKE ZFHK 3 1L
3-5 = H{ZTE ZFHIK 3 7L
3-3 THEE ZFHEK 3 L
2-6 EHEXF ZF A 3 L
2-6 g ZF K 3 L
1-6 SN ZFHIK 3 L
1-6 xR ZFHK 3 1L
2-4 STt (M) ZF A 3 L
3-6 79 #R B BFATILRA 2 1L IHH 15




3-6 FHEMR BFITILR 2 L IHH 15

3-3 FRAGEIT BFAITILA 3 7L

3-2 JRAE R BFITILR 3 Tzl

3-6 FHEMR BFOUTILR| 1 7L IHH 15

3-6 ik 2 NI BFOUTILR| 2 1L IHH 15

3-6 A TFIUTILA| L IHH 15

LR ER

IR0 FEEFESREEEFEFRLRA) VT RFIEXRESRBRFERSHKBMEEESFFERLRAIVI BFEXEERRTE

e ;1] 12 H JIE 2 08X &=

2-6 A FTE A EA 7 1kg#k 2 7L EAe SESLA0—TUALLSE
BilZ 3 7wl




IFIFEEI2ARBEREFFREFHKAGRRERF2AEREFFREFHEKAKFERRERBRR FRKS

IK KB D

Y

ARl

EH

IE iz

sC 8%

BE

2-5 J 1| i 2 AR 100Ba 1 58.85 MHEREHIG
2-5 )1 i e #HD 200Ba 2 | 207794 MEREH IS
3-6 AREHEE 200Ba 2 | 224”06 a8 RS H 5
3-1 ElEES 200IM 2 | 232”56 MEREH IS
3-1 ElEES 400IM 2 | 523746 a8 RS H 5
2-1 i E 100Br 3 | 226740 M EEREHI5
3-6 CBIIEEED) 800mFr 3 | 922706 T R=HI5
3-1 BRI 100mBr 3 | 1'16741 MRS
2-3 mHER 200mIM 3 | 232756 ITEE K= H 5
1-6 &5 REEH 400mIM 4 | 507789 T RXEHIS
2-1 K 75 5hRE 100mBr 4 | 108”73 | EEREHIG
3-6 51|34 400mFr 4 | 432795 MR EHI5
3-6 AREHEE 100mBa 4 | 108705 | ImEREHIG
3-1 iR S 200mBr 4 | 2’52704 TR H 5
2-3 mRHEE 800mFr 4 | 940781 M EERE 5
1-6 BIEE 800mFr 5 | 942731 MHEREH G
1-6 BEMIGEE 400mFr 5 | 444799 I RKEH G




EQIEEE

1-6 & REGH 100mFly 7 | 1702721 TR RK=HIG
2-6 7 H ME 20 200mFr 7 | 203749 MHEREH IS
1-6 T 200mBa 7 | 248”85 M EEREHI5
2-6 75 HH MEER 100mFr 8 56”81 T RXEHIS
2_1 R A i 1500mFr 8 | 1824723 | HHEERESHIE
1-6 T 100mBa 8 | 118726 T XEHI5
2-5 )1 i 22 #H8 S 1iKkE )| b BEAR
21 K FERLAE o (58759: 2E K=H15)
1-6 iE%luEﬂ 400mMR 406713 SAREIA=ZTAI)VEYY
2-6 75 LE I &R AR5
3-6 AREHE

2_} gﬁgi 400mMR 435766 | E#gASHIS
3-6 B )I R

3-6 EWIEES Y

2_1 E\EE;E 400mFR 414762 | SEEARHIE
3-6 AGRERE

3-6




AREHRE

A PashiE

3—-6 ' =
800mFR 9'02707 FEEK

16 BB " =

2-3 mHEE

2—1 p s\

2-5 J 1 i FEE AHR AR’ ‘B Ll
400mFR 3'46”52 TEEK

2-6 7Y H ME AR m =

1-6 & BEEH

2-5 J 1|t 22 #ER

2-6 78 i ME 2R oy’ N

: 800mFR 823752 i
16 ZEEEH " =
21




EERER
EFRI0FEESTREESFFREEGHRT j(%%%72@ﬁi&m%%*x$ﬂz:§$*§j('&,x%k

£ £ Bl JIE fi k=
3-3 =20 % 1 A 3—IN\A{ 15
3-4 X BER 1 A BZ—IN{H15
2-4 gD 3 ITEE K= HI5
2-4 N2 s 3 M EEREHI5
34 AT & FHFIINA 3T
2-2 Al EBE 5 M EEREHI5
3-4 IER HRE 9 MEREH G
3-4 mA HE 9 RS 5
3-3 =0 % 1 A 3— N\ 15
3-4 K7 BER 1 A R—IN{H15
3-4 Hr [E 1 A3 —I\A 115
2-2 £H EE 1 A3 —IN{H15
-3 hE B ATERR (A=A 15
2—-4 o NED 1 A R—IN{H15
2-4 Bl e 1 A 3— N1 H15
1-1 B B 1 A R3—INAH15




ZEH

FRIFEEZESFFREGHERAERIESFFIRIERZZTREFE

FAF 20| = [=Liva FOE% 5

3-1 = [ F 2 BFEAN |NAM| AL

3-4 ey e = BFEAN |ANAF] L

3-1 EEEs B FH{& L 1B —~
3-3 [ L i 2 BFHIK L |2@EE vs BE 2-2A4%
3-4 &S 8k BFH{K AL |[3E#ivs TESE 3-0
3-2 FEIEE B FHK 2131 5L HEREE vs K 3-1
3-3 =fEEA B FH{K HL R vs KM 4-0
2-5 H/ LEH B+ H{K 1L

2—-6 EhEh B FH{& 1L




ZEd

FRIFEEESF 1‘%6 1715 AZFXEHGBRRERFE

a2 £ HI JIIE 42 8% it
3-6 ERAKR MF L
3-6 AR 7L
3-6 ml  ZE L
36 XEE R FFERS | 2
3-4 WiE = 7L
3-1 7 g 3 L
3-6 th &7 g 2 60kg#k 3 L
3-1 o 60kgHR 3 L




INL—R—ILER

PR EE S S YRR AR B A B RS EER AL —R— L EBAS SRR TR

A £ A EdE JIB 41 SOER &%

3-1 B AKX Bik%y 2 HL |21 EERKEHIG
3-1 AIE {E%E AL |1E# vs BELRE 2-0
3-4 B A L |2[EEk vs B2FH 2-0
3-5 £F BEX L |mmy—r®vs T 2—1
3-5 A% == L | REU— D vs TR 20
3—6 b FF j(ﬁ_% 7zl RE—TQ vs XE 0-2
3-6 JKEF FK 1L

3-6 IR B2 AL

2-2 R HE L

2-4 tHE &P 7L

2-5 B3H# =EAER L

2-6 EI £ L

2-6 TR KiE 1L

1-1 LiRAa flL 1L




AR

e b B E D
F11EEESFFEKR %,L.:.PFEXAB*J: RO S it (X P E
HE 28l 5 B8R fEE
6 #ﬁﬂa fAth /\%E %5 2 5623m | 13— /N\(1H15
1 AHE HF £ = Bk 2 1m66 | 1232 —/\(Hi5
6 Bk B % ek 3 4m60 | /23— H15
6 ﬁﬁ FBE NI —1% 3 49mi1l1 | A3 —\A1H15
6 X BEF fa##% 6 12m91 | /12 3—/\A(H15
6 =E EBEF 100m 7 12713
1 I Bk faAi& 8 12m45
LAY ER
**71@%@.—1% BRAERERELFEITSHX FER
= 1] B BC % EBE

N

(@)

N S |Ej(E)5] 71kegfk s Lan—<>| 3 L




F & &R

S 2B tij Efi SR EZ
3-6 = ME F5&)—4 vs B0 3-0
2-1 e L 3 F52)—4 vs SFIL 1-0
3-6 it &S 8k R R—F AR
2-6 FEEF BFEK |~zxrb16]  GL |vs BIERE 1-1 iR
2-6 =EE A
2-6 H/ L5
3-1 E=RhNE
Z D1t
KK FE AR
EREEFEKKGRASRERE VA7 EFIEKKFRERE
£ I %E =] JIE{SL 8% &%

)1 | i B2 AR 200mIM 1 2'14”54

)1 | i B2 A 100mBa 2 58”51

COIIEEE D 800mFr 2 | 921775

ElEES 50mFly 2 30739




Z B
ERABAZEFRRESZR
J

LI =] [ERiva et E=E
Ml ZE SEEE DR 3 7L
EBRER
g 73MEARE BRI R EE S (DEFEDER)
£ Hl fEQ JIE 2 s EE
57 ER 3 S_EAHIE

=2l R 7




